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Attempt All{Each of 3Marks) (15M)
Choose the best cheice for the foflowing questions: {5 M)
b) 15
d) none of the above
c) 11,234}
a) (M)=r
a) Must be even

-2 - B =N

Fill in the blanks. Use following pool te answer question. (5 M)
Pool{two, zeto, universal. warshall’s, simple, closed, equal,onto,invertible)
closed

warshall
onto
Zero
equal

Answer the following questions: (5 M)
20)

A graph G is said to be complete if every vertex in G is connected to every other vertex in G.

61/51=6

inorder
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Altempt the following (Any THREE)(Each of SMarks) (15M)
yes

iyves lino

i) {(¥.1)42.0)4y.3)x.4),(z.4)}

iv) Dom(Ry={1.3.4} Ran(R)}={x.y.z)

i) ={(1,2), (2, 3), 3. D} (2, 1), 3, 3)} i)={(1, 2)} iii) (2, 1), (3, 2), (1, 3)}

{i} Draw its directed graph (i) Find the matrix Ma of R

{D1,302213,1)} (i) {(1,3):(2,2),(3.3)}

Attempt the following (Any THREE) (Each of SMarks) {(15M)
Repetition allowed=7320
Without repetition=4760
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ia’. a'b, a’b’.aba.abab,a b’ iije’. a’b. aba’.abab, ba’,b2ab
L(G)={a"b": m and n positive integers)
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Attempt the following (Ary THREE) (Each of SMarks) (15)
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There are two simple paths [rom A to C: (A, X,Y.C) and {A.X,B.Y,()
There is only one cycle (B.X.Y.B)

verex b
In degree 0
Out degree 2

(1)
Attempt the following (Any THREE) (Each of 5Marks)
Degree 2.-2. 4,-8.16
350 ways
A=tab} S=180,51.52,53) Z={x, vz} I=50
(x+7)/3
33 e
e:b |- Construct an automaton ¥ suchrthatHéivi-wit consist of those words where the
s divisible by 3. (Hintr three states are needed,)




